Learning Chess Notation

Now for something that will really impress your family and friends — reading and

writing algebraic chess notation!

Here is an empty chessboard, with the algebraic
notation coordinates written around the edges to help
you.

You can see that the files — going up the board - are
labeled a, b, c, d, e, f, g, h.

The ranks — going across the board — are labeled 1, 2,
3, 4,5, 6, 7, 8 from White’s side of the board.

The beauty of this grid-like system is that every square
on the board has a name of its own, as you can see
from this diagram.

Because every square has its own name, it is very
easy to describe a move.

Let’s work out which square the white
king is standing on. You might already be able to work
it out by yourself.

The arrows help to show that the king is standing on
the e-file, and also on rank number 4.

Therefore, the king is standing on the square e4.
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Practicing Chess Notation

Here are some pieces sitting on the chessboard. Work out the name of the square
that each piece is on.

Where is the black rook?

The rook is on the c-file.
The rook is on rank number 1.
The rook is on c1.
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Where is the white knight?

The knight is on the f-file.
The knight is on rank number 4.
The knight is on f4.
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0 Where is the white queen?

The queen is on the e-file.
The queen is on rank number 8.
The queen is on e8.
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How to Read & Write Chess Moves
c de f gh

b
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abcde f gh
In chess books, you will usually see a little queen symbol, W. But when you're

writing it down yourself, it is much easier to write the letter Q than to draw a
queen.

To record a chess move, you write down only the
square it moves to. You also need to say which
piece it is.

The move indicated by the arrow would be
shown as: Wbe.

This means the queen moves to the b6 square.
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Here are the letters we use for the pieces, to write the moves down ourselves.

N is for Knight Q is for Queen
B is for Bishop K is for King
R is for Rook

There is no symbol or letter needed to show pawn moves. We'll explain that in a moment.

You are probably wondering why we use the letter N for a Knight! This is because
K is kept for the King. Besides, ‘knight’ sounds like it begins with N.

8 8

7 7 Let’s practice writing down the move shown by
the arrow in the diagram. White’s knight is

6 6 moving to the e5 square (shown as &\e5 if we

5 5 saw it in a book).

4 4 If you were writing the move yourself, it would be

3 3 written:
Ne5

2 2

1 1




How to Read & Write Chess Moves
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We don’t use any symbols for pawns. You just

This means on move 1 of the game the white
pawn moved to the e4 square. The next diagram
shows the completed move.

pawn can move to the square. It is also usual to
number the moves. So we show the move

pawns move there is no confusion, as only one
indicated by the arrow as:

give the destination square. Because of the way
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Each side has played one move. Now, on move

two, let’s say White decides to move his bishop

to the c4 square. After that move, the complete

game notation so far would be written like this:
e5

2 &c4

1e4
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Some Facts About Algebraic Chess Notation

Algebraic chess notation is used all over the world. You could even

understand the moves of a chess game in a Russian magazine!

A different chess notation, called Descriptive Notation, was popular some

years ago. But these days most people use the simpler algebraic.

Event {/( $ A C /Mmp{vm hap

Date

oo

white A Shabalov Black L Christransen
Opening Opponents Grade

1 C/[l— M-,[é 26. QA3 | Nxq2
2__ck el 27 Kxqd &XL'{-
3 f\/ﬂﬁl_’} YA ey Nxf2.
4 Mc’,s /BA‘-’ 29 &i[ RY‘CI
5_ al ds s0_Rxel | Nel

6 CxdS e xS 31 Nxe/lf A xe,l?«
7 33 Rab 32 QI;L KhS
8_Rgl 0-0 33 «{;S- Kh7
o 00 | Nbd7 u Ly | RL6
10 Qfh | Bxfy as_ RL L] Bh3
119 x.\'fi.‘; ¢S 36 Rel 'KX--FS'
12_ed | ReX 37 Nx‘éij Rxfs"
13__Rel MQ,L!. 38 O+

1. Nex | Qel 39,

15 Na3 | R{d§ 40

16 B3 ReT 41

17 Qe | NAR 42

18 R,‘Call Bk 43

19 :’% 2 ’jo L a4

20_dxes | bxes 45

21 &C/L Rd é‘ 46

22 Rel Ngé a7

23 bl Kb a8

24 1\1[0“’4— Mh'i 49

25 bxes | Rxes 5O I S
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A typical scoresheet of a game
might look like this. In serious
competitions both players must
write out a scoresheet during the
game.

This game (from the USA
Championship in Seattle) lasted
37 moves. Black won when
White decided his position was
lost, and RESIGNED.

Games between strong players
often end with one player
resigning. A player can resign at
any time if he thinks his position
is hopeless.



How to Read & Write Chess Moves

We've seen how easy it is to record the first few moves of a game in algebraic
notation. Now let’s see how you write down the capture symbol.

== N W Hd OO NO® = N W HdOONO®

== N W s~ OO NO®

abcde f gh
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When a piece takes another piece, it is helpful to
indicate this by writing the symbol “x” for capture. For
example, in this position the black rook can capture the
white knight. This is written:

1... E xc4

You'll also notice there are three dots after the move
number 1. This shows it is a move by Black.

In this position the black pawn can capture the white
rook. We write this move as:

1...exf3

The black pawn came from the e-file and took the rook
on f3.

Here's a tricky one — White can capture the black
bishop with either of his two rooks. So writing

1 Exg7 is not quite correct. We need to show which
rook makes the capture!

1 Hdxg7

The notation shows that it is the rook on the d-file that
makes the capture. White’s rook on the d-file captures
the black bishop on g7.

29



Terribly Tough Test Number Five

Win 1 point for every correct answer. Your challenge here is to write down, in
algebraic chess notation, the move shown by the arrow in each diagram.

Solutions: page 108.
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1) White to move

On his first move, White has advanced
his d-pawn two squares, to the d4
square. How would you write this move
in chess notation?
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3) White to move

The white knight is about to capture the
black pawn. How would you write this
move down?
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2) Black to move

How would you write the rook move
(shown by the arrow) that Black is about
to make?
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4) Black to move

The black bishop is about to capture the
white queen. How would you write this
move down?



